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PSYCHOLOGY
Paper 11
Time Allowed : 1% Hours] [Maximum Marks : 100

Note :— This question paper contains fifty (50) multiple choice questions. Each

question carries two (2) marks. Attempt all questions.
1. | Which of the following can be assessed using Stroop Effect ?
(@) Speed of cognitive processes
(b) Attentional capacity
(¢) Level of cognitive control
(A) (a) and (b) only (B) (a) and (c) only
(C) (b) and (c) only (D) (a), (b) and (c)

2 Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below it :

Assertion (A) : Research evidences suggest that a number of basic
emotions (e.g. anger, sadness, disgust, joy) are experienced

in the same way across cultures.

Reason (R) : We inherit some common psychological mechanisms that
predispose to respond to the environment in ways that

proved successful.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.
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3. Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below it :

Assertion (A) : Individuals awakened during NREM sleep reporf mental

activity.
Reason (R) : | People in' NREM sleep mostly dream.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

4. Which theory states that the Thalamus sends sensory information to the cortex

and sympathetic nervous system simultaneously ?

(A) James-Lange (B) Canon-Bard
(C) Schachter-Singer (D) Facial-feedback:
5. The brain areas involved in eye-blink classical conditioning, are :

(A) Cerebellum, hypocampus, amygdala and brain stem
(B) Cerebrum, hypothalamus, amygdala and brain stem
(C) Cerebellum, brain stem, medulla and amygdala

(D) Medulla, Pons, amygdala and hypocampus

T.B.C. : 21/17/ET—II 4
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6. Even though ....cccooiiivnsiieinarsnens allows us to fill in the gaps in ambiguous and
out of context stimuli, we will be unable to perceive the meaning of such

stimuli without ..........ccoeeeiireecnnnnne. as both occur simultaneously.
(A) Bottom-‘up processing, Top-down processing |
(B) Top-down processing, Bottom-up processing

(C) Knowledge of language, World knowledge

(D) Parallel processing, Distributed processiﬁg

i & Read each of the following two statements, Assertion (A) and Reason (R) and

indicate your answer using the codes given below it :

Assertion (A) : Developing and identifying the most effective therapies
for treatment of depression are covered in applied

research.

Reason (R) : Depression is issue of practical significance and potential

solution.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct e_x-planation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

8. Nomothetic and ideographic approaches in personality research have been
mainly emphasised by ........ccccccceiiiiiininnn. and s s respectively.
(A) Cattell and Eysenk (B) Cattell and Allport
(C) Cattell and Freud (D) Eysenk and Comrey

T.B.C. : 21/17T/ET—II 6
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10.

Match List I with List II and select the correct answer by choosing from codes

given below it :

List I List II
(Research Methods) (Limitations)
(@) Laboratory Method "~ (i) Post-hoc Fallacy Susceptibility
() Ex Post Facto Method (11) Lack of external validity
(c) Field Experiment (ti7) Inability to manipulate

independent variable

(d) Case Study (v) Contaminated independent

variable’s effect

Codes

@ - ®  © (d)
@& G (iid) @ - G
B) G (i) (iv) (i)
© i) (ii) (@) (iv)

(D) (i) (z1) (12z) ()
Pattern of familial transmission of intelligence across generati‘ons is
investigated in which of the following :

(A) Adoption Studies (B) Association Studies

(C) Linkage Analysis Studies (D) Segregation Analysis Studies

T.B.C. : 21/17/ET—II 3
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11.

12

13.

14.

Which of the following is the memory for information which is unintentionally

learned ?
(A) Explicit memory (B) Semantic memory
(C) Episodic memory (D) Implicit memory

The area of brain is responsible for Satiety behaviour :
(A) Ventromedial hypothalamus (B) Lateral hypothalamus
(C) Caudal nucleus (D) Thalamus

....................................... studies the relation between physiological activity and

psychological processes in human subjects.
(A) Physiological psychology (B) Neuropsychology
(C) Cognitive neuroscience (D) Psychophysiology

The distribution of emotional arousal and its effect on performance will depict

which type of curve when plotted on a grai)h :
(A) S-shaped (B) Ogive-shaped curve

(C) U-shaped curve (D) Inverted U-shaped curve

T.B.C. : 21/17/ET—II 10
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I8, caisneissmmiasimimiigs is a set to use objects in the way we are accustomed to

using them, even if a different use might solve the problem.
(A) Heuristics (B) Practice Effect
(C) Functional Fixedness (D) Cognitive Rigidity
16. Which of the following are exceptions to the principles of classical
conditioning ? . _
(@) Biological constraints on learning
(b) Conditioned taste ave'rsion
(¢) Acquisition of CR
(A) Only (a) is correct (B) (&) and (¢) are correct

(C) (a) and (b) are correct (D) (a) and (¢) are correct

17. Read each of the following two statements, Assertion (A) and Reason (R) and

indicate your answer using the codes given below it :
Assertion (A) : Camouflage works because it breaks up counters.

Reason (R) : Counters give shape to the objects in our visual world
because they mark one object off from another or they mark

the object off from the background.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanétidn of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

T.B.C. : 21/17/ET—II 12
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18.

19.

20.

Rorschach Ink blot test measures personality. It consists of both black and
gray and colored plates. Which of the following is correct about Serial No.’s

of multicolored plates ?
(A) (vi) (vir) (x) (B) (vii) (x) (x)
(C) (vi) (vii) (viii) (D) (viii) (ix) (x)

When the measurement in the research is weaker than interval scale and
at least ordinal measurement has been achieved, then which of the following
test may be used to test whether the two independent groups have been drawn

from the same population ?
(A) Friedman Test (B) Median Test
(C) Mann-Whitney Test (D) Rank Difference Test

Read each of the following two statements, Assertion (A) and Reason (R) and

indicate your answer using the codes given belovs} it

Assertion (A) : Neurons cannot ﬁre during refractory period.

Reason (R) : A neuron can release only neurotransmitter.

Codes

(A) Both (A) and (R) are true, and (R) is the correct explanation of_ (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

T.B.C. : 21/17/ET—II 14
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o 21,

22,

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below it :

Assertion (A) : Spearman proposed the existence of General Factor () of

intelligence.

Reason (R) : Empirical Evidences were obtained in favour of tetrad

equation.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.
Which of the following personality tests use Lie Scale ?
(@) MMPI
(b) Neo-PI-3

(¢) Manifest Anxiety Scale

(d) EPQ-R

Codes :

(A) (a) and (b) only (B) (b) and (¢) only
(C) (e) and (d) only (D) (a) and (d) only

T.B.C. : 21/17/ET—II 16
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23.

24.

25.

Which of the following is true of Haptic memory ?
(A) Sensory memory specific to olfactory stimuli
(B) Sensory. memory specific to tactile stimuli

(C) Short-term memory specific to olfactory stimuli
(D) None of the above

A personality dimension called ..............ccccoveuvevennnn. .... 18 related to creativity. A
person high on this resists conventional approaches that have been determined
by others and rather do what is acceptable to him/herself even if it is unpopular,

rebellions and non-conforming.
(A) Origence (B) Autistic

(C) Rebellions (Dj Pessimistic

r

The process by which people learn to discriminate stimuli is known as
....................................... in which behaviour is reinforced in the presence of a

specific stimulus, but not in its absence.
(A) Classical conditioning (B) .Stimulus control training

(C) Schedules of reinforcement (D) Social leaming

T.B.C. : 21/17/ET—II 18
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26. “Any activity can be a reinforcer if a contingency schedule constraints an

animals access to that activity.” This is known as :

(A) Instinctual Drift

(B) Disequilibrium Hypothesis

(8] Premack Principle : -
(D) Concurrent Reinforcement Schedule

97 Match List I with List IT and select the correct answer by choosing from codes

given below :

List I List II
(Types of Reliability) (Errors)
(@) Test-Retest (i) Time Sampling
(b) Split-half (ii) Content Sampling
(¢) Inter Scorer | (iit) Scorer Difference
(d)- Alternate form (Delayed) (jv) Time Sampling and Content
Sampling
Codes :
(a) (b) (c) (d)
(A) (1) (z12) (iv) (@)
(B) (i) (iit) (&) (iv)
(C) (@) (i) (iz) (iv)

(D) (iv) (it) (2i1) (@)
T.B.C. : 21/17/ET—II 20
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28. Match List I with List II and select the correct answer by choosing from codes
given below it : |

List I List II
(@) Cell bod.y (f) gaps between sections of myelin
() Axon (i) metabolic centre of the neuron
(¢) Axon Hillock (i) long narrow process that projects

from the cell body

(d) Nodes of Ranvier (iv) cone-shaped region at the junction
between the axon and cell body

Codes :

(@) (b) (c) (d)
(A) (@) (@) (i) (v)
(B) (@) (iid) (iv) @)
(© (iii) (@ (it) (iv)
(D) (iv) (e) @ . G

29. Which of the following is true about hypothesis testing ?
(i) The null and alternate hypothesis are defined before sample is drawn.

(ii) Alternate hypothesis is actually the one which one wish to disprove while

null hypothesis is one which one wish to prove.
(iii)) Null hypothesis should always be specific hypothesis.
Choose the correct option :
(A) () and (i) (B) (i) and (i1)
(C) (i) and (iii) D) @), (@) and (i)
T.B.C. : 21/17T/ET—II 22
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(A) @) Gy @) (iv)
B) @) @i)  Gv) @)
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D) () (i) @) (iti)

29. fy= # A UHeTH THHW B TR A HAW Sk & ?

() vheed & wm A @ @ v 9w dsfeus SumedH w1 R fawE
G

G Awters Sy A § 98 ¥ i ¢ sl o wifew ST e @ a
= Suwmer @ & o wfw wfem # e ®)

(i) YA SYHTT T fE¥w ST e =mfe|

wa fawey &1 g -
(A) @) a9 (i) (B) (i) a9 (iii)
©) @G a9 (i) D) (), i) T (i)
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30.  Match List I with List IT and select the correct answer by choosing from codes

given below :
List I List 1I
(Concept) (Author)
(@) Mental Age (f) Wechsler
(6) Deviation 1Q (i) Binet
(¢) Positive Manifold (zi) Otis -
(d) Army Alpha Test (lv) Spearman
Codes :
(a) ) (c) (d)
(A) (@) (z1) (12z) (iv)
(B) (@) (z) (tv) (771)
(C) (773 (iv) (2) (i7)
(D) (iv) (ziz) (zz) (2)
31.  Match List I with List IT and select the correct answer by choosing from codes
given below :
List 1 List II
(Concept) (Test)
(@) K-Scale (#) Rorschach Ink blot Test
b) B.G (@) M.M.P.I-II
(¢) Z Frequency (Zit) Neo-PI-R
(d) Big Factors (v) TAT
Codes :
(a) () (e) (d)
(A) @) () (zii) (iv)
(B) (i11) (&) (iv) (i)
(C) (i) (iv) (2) (z12)
(D) (@iv) (i11) (ii) ()
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32. Read each of the following two statements Assertion (A) and Reason (R) and
indicate your answer using the codes given below it :

Assertion (A) : People are likely to retain what they read material which
is difficult to read.

Reason (R) : Elaborative rehersal is a memory process that allows a
person to actively review information with what he already
knows.

Codes :

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, bﬁt (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

33.  Match List I with List II and select the correct answer by choosing from codes

given below :

List I List II
(Concept) : (Explanation)

(@) Conservation of energy (#) Given amount of energy in the
individual remains constant over
time

(6) Entropy (iz) Amount of energy that is not
available for doing work

(¢) Cathexis (1) An attachment to some objecct

- that is desired but has not been
attained

(d) Hedonism (fv) Pleasure and happiness are the
main goals in individual’s life

Codes :

(a) (b) (c) (d)

(A) (z1z) (iz) (@) -(iv)

(B) (iv) (@) (779 (iz)

(©) (2) (a) (z21) (iv)

D) @ (iv) (£it) (i7)
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(A) (A) 3R (R) 2 @@ €, 3R (R), (A) = " =re 2
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D) (A) TEd ¥, T (R) 98 &I
o=t 1 g 11 g gafea wife qo Frefafen #20 #1 wEm w5 '@ IW
HT TIF HIfeA
LUl il
(T) (=arE)
(@) i FIEO () uw et H e w3 Eag
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(d) et (iv) & A & SiaA & A< SR TE=id
qeq A @
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(a) (b) () (d)
(A) (211) (iz) (2) (iv)
B) () (@) (i) (1)
(C) (z) (z1) (zit) (tv)
(D) (@) (iv) (zii) (iz)
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34.

35.

36.

What does reduce the problem distance between starting point and the

goal ?
(A) Normative-Utilitarian (B) Means-End Analysis
(C) Normative-Logical (D) Heuristic Shortcuts

After specific events occur we often have the impression that we could have

predicted or actually did predict them. This tendency is known as :
(A) Confirmation Bias (B) False Belief

(C) Hindsight Effect (D) Practical Reasoning

The law of Pragnanz refers to :

(A) The tendency to read an ambiguous stimulus in accordance with an

expéctation
(B) The tendency to divide the perceptual world into two distinct parts

(C) The tendency to view objects as unchanged despite change in sensory

information

(D) The tendency to perceive the simplest and most stable figure of all possible

perceptual alternatives
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37. Match List I with List II and select the correct answer by choosing from codes

given below :

List 1 List II
(@) Cerebral aqueduct (1) Myelinate CNS axons
(b) Synaptic vesicles _ (2z) Connects Ehe third and fourth
ventricles
(¢) Dorsal (iii) Packets of neurotransmitter
| molecules
(d) Oligodendrocytes (tv) Top of a vertebrate’s head
Codes :
(a) (b) © @
(A) @ (i) (iit) (iv)
(B) (it) (iii) (iv) (&)
© . G (i) (&) (i)
(D) (iv) (iit) (i) (@)

38. The moon is often perceived as ‘racing’ through a thin layer of clouds, it is

an example of :
(A) Stroboscopic motion (B) Autokinetic effect

(C) Induced movement (D) Moon illusion
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40.

41.

42.

....................................... validity deals with ability of test score to predict human

behaviour with the help of test score, observable behaviour, and grade point

averages.
(A) Construct (B) Criterion
(C) Face (D) Content

Which of the following concepts are not related to Cattellian model of

personality ?

(@) Syntality

() Super factors
(¢) Beyondism

(d) Visceral Brain

Codes :
(A) (a) énd (b) only (B) (&) and (¢) only
(C) (b) and (d) only (D) (a) and (d) only

Entrance examination result ir. terms of pass/fail is an example of .............covvvuveeee.

type of variable.

(A) Continuous : (B) Qualitative

(C) Real Discrete (D) Artificial Discrete
Raphe nuclei are most closely related to which neurotransmitter :
(A) Epinephrine (B) Serotonin

(C) Norepinephrine (D) Dopamine
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45.

Genetics determines the intellectual potential, but its actual manifestation
is influenced by environmental factors. It is called :

(@) Collinearity

(b) Reaction Range
() Cohort Eﬁ.'ect
(d) Heritability

Codes :
(A) (a) only (B) (b) only
(C) (a) and (b) only (D) (e) and (d) only

Which of the following is the Encoding technique that creates association
between number-word rhymes and items to be memorised ?

(A) Method of Loci (B) Key method
(C) Peg method (D) Schema

Match List I with List II and select the correct answer by choosing from codes
given below :

List I List II
(Construct) , (Explanation)

(@) Gamblers Fallacy (Z) Specific to General
() Tower of Hanoi (i) Symbolic Construction
(¢) Inductive Reasoning (iii) Executive Functioning
(d) Concept ~ (fv) Representative Heuristic
Codes :

(a) (b) (c) (d)
(A) (i27) (1) (i) (iv)
(B) (iv) (ii1) @) (i)
(C) () (i) (uiz) (iv)

D) (i) @) @ (iii)
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(@) S8 & 9 () fagm | wm= wW AR
®) <R F T (i) e T
() STHATHE T ‘ (iii) *EER TEE (functioning)
(d) THID (iv) wfatrears SEs
&He

(@) (b) () (d)
(A) (D) (i) @ . (v
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(©) @) (if) (iii) (iv)
D) D) (iv) @) (iii)
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46. Match List I with List II and select the correct answer by choosing from codes

given below :

(a)

(b)

(e)

(d)

List I
(Process)

CS and UCS begins and

end at the same time

Onset of CS precedes the
onset of UCS

Onset of UCS begins while
CS is still present

UCS precedes the presenta-
tion of CS

Codes :

@ ® @
@ @ @0
® @ @ (@)
© O @ G G
® G @ GD)

List II
(Cohcept)

(i) Backward Conditioning

(@i) Delay Conditioning

(¢iit) Trace Conditioning

(fv) Simultaneous Conditioning

(d)
(iv)
(zi2)
(i)

@)

47. The Embeded Figure Test is a test for :

(A)

©

Size Constancy

Perceptual-Cognitive style

T.B.C. : 211 7T/ET—II
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48.

49.

50.

Rakesh scored 65 marks in a test. The mean score on thé test is 60 and the

standard deviation is 5. The Z score for Rakesh will be .........ccvueeine... .
(A) O - (B 2
(Cc) 1 (D) 3

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below it :

Assertion (A) : The decision theory stress that the purpose of Psychological
. testing, is not measurement per se but measurement in

the service of decision-making.

Reason (R) : The link between testing and decision-making is nowhere
more obivious than in the context of predictive validation

studies.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explaﬁation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explahation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

Arrange the products of Guilford’s Struct of Intellect Model (SOI) in correct

sequence :

(A) Unit — Relations — Class — System — Implication — Transformation
(B) Unit — Class — Relations — System — Implication — Transformation
(C) Unit — Cla‘ss — Relations — System — Transformation — Implication

(D) Class — Unit — System — Relations — Transformation — Implication
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50. frewe & SOI whwd # SR & w& %4 § fafed :
(A) THE — TEY — M — WUW — STRIA — IR
(B) THE — i > Y — FEHE — IURIA —> EIR

(C) THE — S - FEH — TEM — TIRRI — STRI

D) A — TFE — &R — TFY — TR — SR
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